

#### **PURCHASE ORDER**





Province of La Union

for OPG use only: Supplier: LEVATECH TRADING PO No. 2024-08-27-007 Address: City of San Fernando, La Union Date: 08 -27 - 2024 NP:SVP MOP: PR No/s. 014-S

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery: Office of the Provincial General Services Officer Delivery Term: FOB Date of Delivery: Within Thirty (30) calendar days upon the receipt of the P.O. Payment Term: 1/30

Item No.	Unit	Quantity	Description	Unit Cost	Amount	
1 +	piece	1	Angle Grinder, Portable	5,635.00	P	5,635.00
2	set	1	Combination wrench (10, 12, 14, 17, 19, 22, 24)	593.00	P	593.00
3	unit	1	Cordless impact drill with spare battery	5,698.00	P	5,698.00
4	unit	1	Electric planer, 650 watts	10,678.00	P	10,678.00
5	set	1	Screw Driver (Philips and flat head interchangeable)	124.00	P	124.0
6	set	10	Brush, baby roller with tray, 4"	107.50	P	1,075.00
7	piece	10	Brush paint, 1"	23.75	P	237.50
8	piece	10	Brush paint, 2"	29.70	P	297.00
9	piece	10	Brush paint, 3"	77.75	P	777.50
10	piece	1	Circular saw blade for wood, 8"	695.00	P	695.00
11	piece	1	Circular saw blade w/ diamond 20cm Ø	550.00	P	550.00
12	set	30	Door knob	503.00	P	15,090.00
13	piece	5	Drill bit hi-speed, for concrete, 1/2"	478.00	P	2,390.00
14	piece	5	Drill bit hi-speed, for concrete, 1/4"	179.00	P	895.0
15	piece	5	Drill bit hi-speed, for concrete, 1/8"	113.00	P	565.00
16	piece	5	Drill bit hi-speed, for concrete, 3/16"	155.00	P	775.00
17	piece	5	Drill bit hi-speed, for concrete, 5/16"	263.00	P	1,315.00
18	piece	5	Drill bit hi-speed, for metal, 1/16"	23.50	P	117.50
19	piece	5	Drill bit hi-speed, for metal, 1/4"	215.00	P	1,075.00
20	piece	5	Drill bit hi-speed, for metal, 1/8"	95.50	P	477.50
Amount in Words:			•	SUB-TOTAL		
			Forty Nine Thousand Sixty Pesos Only	**P49,060.00**		

In case of failure to make the full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent of every day of delay shall be imposed.

Very truly yours,

RAPHAELLE VERONICA ORTEGA-DAVID

Provincial Governor

Conforme:

MHOMIN Signature over printed name Supplier Contractor

27 - 24

Requisition Office/Department

ARVIN C. CAMACHO Provincial General Services Officer

PG\$0 PO-24-020

120-24-10-65







Province of La Union

for OPG use only: Supplier: LEVATECH TRADING PO No. Address: City of San Fernando, La Union Date: 08 - 27 - 2024 NP:SVP MOP: PR No/s. 014-S

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Office of the Provincial General Services Officer Place of Delivery: Delivery Term: FOB Date of Delivery: Within Thirty (30) calendar days upon the receipt of the P.O. Payment Term: 11/30

Item No.	Unit	Quantity	Description	Unit Cost		Amount
21	piece	5	Drill bit hi-speed, for metal, 3/16"	239.70	P	1,198.50
22	piece	5	Drill bit hi-speed, for metal, 5/16"	299.40	P	1,497.00
23	piece	5	Ecowood Framing, 2"x3"x12'	359.60	P	1,798.00
24	kilo	5	G.I tie wire, #16	95.00	P	475.00
25	piece	5	Grinding disc, 4"	59.50	P	297.50
26	piece	200	Gypsum screw, 1"	1.15	P	230.00
27	piece	10	Hacksaw blade	71.50	P	715.00
28	piece	20	Lock, drawer	479.85	P	9,597.00
29	piece	10	Lumber, 2"x2"x10'	199.00	P	1,990.00
30	kilo	5	Nail, finishing, 1"	107.50	P	537.50
31	kilo	5	Nail, finishing, 2"	107.50	P	537.50
32	kilo	5	Nail, finishing, 3"	107.50	P	537.50
33	can	5	Paint, lacquer, white, 1gal	1,199.00	P	5,995.00
34	piece	10	Plywood, 3/4"x4'x8' Marine	1,318.00	P	13,180.00
35	piece	5	Plywood, marine, 1/4"	479.00	P	2,395.00
36	piece	2	Push-pull rule, 8 meters	539.50	P	1,079.00
37	can	5	Putty, lacquer, white, 1gal	923.00	P	4,615.00
38	gallon	5	Thinner, lacquer, 1 gal	419.50	P	2,097.50
39	quart	5	Tinting Color, Lamp Black, 1/4L	85.00	P	425.00
40	can	5	Tinting oil, 1/4 ltr. Raw Sienna	99.50	P	497.50
Amount in Words:				SUB-TOTAL		
		Forty Nin	e Thousand Six Hundred Ninety Four Pesos and Fifty Cents		**P4	9,694.50**

In case of failure to make the full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent of every day of delay shall be imposed.

Very truly yours,

RAPHAELLE VERONICA ORTEGA-DAVID Provincial Governor

Conforme:

Signature over printed na Supplier/Contractor

12-27-24 Date

Requisition Office/Department

ARVIN C. CAMACHO Provincial General Services Officer



# **PURCHASE ORDER**





Province of La Union

	LEVATECH TRADING	PO No.		
Address:	City of San Fernando, La Union	Date:	08 - 27 - 20 24	
		MOP:	NP:SVP	
		PR No/s.	014-S	

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery:	Office of the Provincial General Services Officer	Delivery Term:	FOB
Date of Delivery:	Within Thirty (30) calendar days upon the receipt of the P.O.	Payment Term:	1130

Item No.	Unit	Quantity	Description	Unit Cost	Amount	
41	can	5	Tinting oil, 1/4 ltr. Burnt Sienna	99.50	P	497.5
42	gallon	5	Wood varnish, clear	863.00	P	4,315.0
43	piece	20	Grinder Cutter 100x60x16 heavy duty (disk only)	239.75	P	4,795.0
44	roll	27	Electrical Tape Big, 40ft	173.50	P	4,684.5
45	piece	1	Blow Torch with butane	2,997.00	P	2,997.0
46	piece	5	Door closer	1,359.00	P	6,795.0
47	piece	2	Pump pliers, size 10"/250mm, Max clamping open: 40mm, TPR two color	656.00	P	1,312.0
48	roll	1	Flat Cord 18, 150 meters	2,639.00	P	2,639.0
49	set	1 -	Allen Wrench, 13 pcs, Ball point Long Arm Allen Hex Key Set	317.00	P	317.0
50	piece	2 -	Pliers, Line man, Heavy Duty, 10"	835.00	P	1,670.0
51 +	set	1	Screw Driver	999.00	P	999.0
52	piece	1	Multi functional Portable 9 pocket tools (Holster)	2,267.00	P	2,267.0
53	piece	1	Long Nose Plier, Heavy Duty, 7"	1,318.00	P	1,318.0
54	piece	1	Diagonal Cutter Pliers, 7", Heavy Duty	1,370.00	P	1,370.0
55	unit	1	Ladder, Extendable (Fiberglass), 24ft 💃	14,615.00	P	14,615.0
56	piece	1	Hammer Drill, with cord, Heavy Duty	8,808.00	P	8,808.6
57	piece	1	Hammer Drill, cordless, Heavy Duty, Rechargeable **	3,838.00	P	3,838.0
58	piece	1	Industrial Rotary hammer, 1500 watts, Heavy Duty	10,880.00	P	10,880.0
59	unit	1	Pressure Washer, Portable, 1500 watts, Heavy Duty 💃	11,361.00	P	11,361.0
60	piece	50	Steel Lavatory Flexible Hose for Plumbing and Tap Faucet Double Nuts Connector, 1/2 x 1/2 x 12"	214.00	P	10,700.
Amount in Words:				SUB-TOTAL		
		Nine	ty Six Thousand One Hundred Seventy Eight Pesos Only		**D0	6,178.00

In case of failure to make the full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent of every day of delay shall be imposed.

Very truly yours,

RAPHAELLE VERONICA ORTEGA-DAVID

Provincial Governor

Conforme:

Signature over printed name Supplier/Contractor

12 - 27 - 24 Date

Requisition Office/Department

ARVIN C. CAMACHO
Provincial General Services Officer



#### **PURCHASE ORDER**



Province of La Union

Supplier: LEVATECH TRADING

Address: City of San Fernando, La Union

for OPG use only:

PO No.

Date: NP:SVP MOP:

PR No/s. 014-S

Gentlemen:

Date of Delivery:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery: Office of the Provincial General Services Officer

Within Thirty (30) calendar days upon the receipt of the P.O.

Delivery Term:

FOB

\*\*P282,595.00\*\*

Payment Term:

Item No.	Unit	Quantity Description	Description	Unit Cost		Amount	
61	piece	50	Rubber Flapper for water closet, 2"	191.50	P	9,575.00	
62	piece	10	Faucet, Ordinary	263.00	P	2,630.00	
63	piece	20	Faucet, Stainless	827.00	P	16,540.00	
64	piece	20	Faucet, Gooseneck, Retracktable and rotatable	1,295.75	P	25,915.00	
65	piece	10	Faucet, stainless delayed urinal valve push type	2,561.50	P	25,615.00	
66	piece	10	PVC Male Plug, 3/4" dia	131.00	P	1,310.00	
67	piece	20	Pressure Switch	816.80	P	16,336.00	
68	piece	10	Pressure Gauge	557.50	P	5,575.00	
69	set	1	Water Pump Plier, 8", 10", 12", Heavy Duty	767.00	P	767.00	
70	piece	2	Pipe Wrench, 24", Heavy Duty	5,855.00	P	11,710.00	
71	piece	1	Pipe Cutter, Heavy Duty	1,318.00	P	1,318.00	
72	set	1	Portable Welding Machine 300amp	6,498.00	P	6,498.00	
73	piece	15	Plastic Pallet Four Way Mesh Type	3,499.00	P	52,485.00	
74	piece	20	3W LED recessed down light ceiling Circle Flash Type (warm white)	398.75	P	7,975.00	
75	piece	20	6W LED recessed down light ceiling Circle Flash Type (warm white)	599.60	P	11,992.00	
76	piece	20	9W LED recessed down light ceiling Circle Flash Type (warm white)	899.70	P	17,994.00	
77	piece	20	12W LED recessed down light ceiling Circle Flash Type (warm white)	1,099.50	P	21,990.00	
78	set	20	18W T8 LED Tube & Box Type Set (Day Light)	1,099.50	P	21,990.00	
79	set	20	18W T8 LED Tube & Box Type Set (Warm White)	1,099.50	P	21,990.00	
80	piece	20	7W LED Bulb (Warm white)	119.50	P	2,390.00	
				SUB-TOTAL:	P	282,595.00	
Amount in Words: Two		Two Hu	ndred Eighty Two Thousand Five Hundred Ninety Five Pesos	TOTAL			

In case of failure to make the full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent of every day of delay shall be imposed.

Only

Very truly yours,

RAPHAELLE VERONICA ORTEGA-DAVID SProvincial Governor

Conforme:

er printed name Signature o Supplier/Contractor - 24

Requisition Office/Department

ARVIN C. CAMACHO Provincial General Services Officer



# PURCHASE ORDER



			Province of La Union							
				for OPG u						
Supplier:				PO No.		1-08-27-007				
Address:	City of Sar	r Fernando	, La Union	Date:	08 - 27 - 2024					
				MOP:	NP:SVP					
				PR No/s.	014-5					
Gentlemen					-					
Gentiemen		ase furnish	this office the following articles subject to the terms and condition	ns contained l	nerein:					
Place of De	ne Provincial General Services Officer	Delivery			FOB					
Date of De		Within Thirty (30) calendar days upon the receipt of the P.O.		Payment	Term:		W 30			
Item No.	Unit	Quantity	Description	Unit Co	st		Amount			
81	piece	20	7W LED Bulb (Daylight)		119.50	P	2,390.00			
82	piece	20	9W LED Bulb (Warm White)		199.80	P	3,996.00			
83	piece	20	9W LED Bulb (Daylight)		199.80	P	3,996.00			
84	piece	20	12W LED Bulb (Warm White)		248.90	P	4,978.00			
85	piece	20	12W LED Bulb (Daylight)		248.90	7	4,978.00			
86 /	piece	20	3W LED recessed down light ceiling Circle Flash Type (Daylight)		399.85	P	7,997.00			
87	piece	20	6W LED recessed down light ceiling Circle Flash Type (Daylight)		599.70	P	11,994.00			
88	piece	20	9W LED recessed down light ceiling Circle Flash Type (Daylight)		899.90	P	17,998.00			
	1		nothing follows							
			Tiourning rollows							
			3							
		Eivo Hu	ndrod Thirty Five They and Fight Handard Fifty Fam Barre	<b>GRAND TOT</b>	AL					
Amount i	n Words:	rive nui	ndred Thirty Five Thousand Eight Hundred Fifty Four Pesos and Fifty Cents	**P535,854.50*						
In case of fa	ilure to ma	ke the full o	delivery within the time energified above a namely of any target (4)	10) -5						
shall be imp	osed	Ne the full t	delivery within the time specified above, a penalty of one-tenth (1/	(U) of one per	cent of	every	day of delay			
				Very truly you	ıro					
				very truly you	ais,					
		- ///	100	Provincial Governor						
Conforme:		ATTI		8 Provincial Governor						
	4	X VVVV	11							
	> M	TM F-	WIMOTI D							
	Signature over printed name									
		ad <mark>tor</mark>								
	12 -	27 - 24								
		Date								

ARVIN C. CAMACHO
Provincial General Services Officer

Requisition Office/Department